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( Part-1 Jdilasa )
Write short answers to any FIVE parts. _a‘fay,e/’?fﬁ,l:zlét.—.éf
Define longitudinal waves, -4_-,{ ..éi/‘U)gsJiz;gJ (i)
EPE bR 1998 Lafehin O G

If the time period of simple pendulum is 1.99S, then find the frequency of the pendulum.

What is meant by ransverse waves? e el st 2 i)
Define the loudness of sound. = : d.‘f.—_y;d/uéﬁ llJi‘;lr {iv)
What is meant by echo of sound? - ?.g_:r/gﬂ-_,f-&;b- (v)
State Fleming's left hand rule. . 45‘;,!“{«.;_]:"!5}7}-;;:"1.(...@-'6 fvi)
Define A.C. generator. _‘_:.'é—..y,;‘_(}: .

What do you mean by electromagnet? Te sl t i)
Werite short answers to any FIVE parts, &=l ‘Ii;..(j:(
State laws of reflection of light, -.;ig;l ’ y ZJJ’ v i)

SRS G
@ <t i
Rl (i)
?.?,..l’/fg; ..£."!{5.r: (v)
Write two advantages of e-mail. & -é{_{ ﬁ-"ﬁ;;ﬁ&-’d Fqvi)
Write the names of isotopes of hydrogen. PY 9 -gﬁdg,ﬁ:‘:.{.",,d}rﬁﬁpﬁu}_f} (vii)
Who discovered radioactivity? \ sdeaini Ju Kt (viii)
Write short answers to any FIVE parts. - @lef?irlziékc.éf
How can we identify conductor or insulator with the help t pe? ?u_.‘:‘ﬁ E'c;:’.’ = E}’-:.’rji L ;-";ZJ"J_:' 'L)AL;:.'-J{'J;QI (i)
@ S ARG i (i)

Define fixed capacitor and give its examples, -&= ;Lﬁﬁ-d'u’r.u'é _:_J/‘U' ;-_:” ¥ {iii)
ha S JAVLSEASFL (iv)
d Serie it. Py SIANS ()

Define wotal internal reflection. -

What is bronchoscope?
Enlist the components of computer based information system. -é{

What do you mean by word processing?

What is the effect of distance ¢.1 Coulomb fore

What is the difference between cell ¢

Write the ST unit of potential differenc

o e N = 5 ] [ I3 ' - 7 .
Differentiate between dircct ¢ naling current. .éﬂkd;’uﬁ-‘-ﬁf B Mas Sl (viy
What is meant by fluorescentScre fe JF/l_ff:.. ol /{'.'-av‘l.uﬁ (vii)

-EELOAL (DAC) 25 et s B s (ADC) 25 555 (i)
alogue to digital converter) and DAC (digital 1o analogue converter).
,uj'/:‘: 09 £ Jivy ..g,f;f_-,l_.bz&..-,urm;.‘j/ pdgd duaa
rt - II, Attempt any TWO questions. Each question carries 09 marks.
Describe the nearsightedness and farsightedness of vision. - S Ay B ()

Er i L S el 1.5Km <! - 35cm i‘@:mi 2KHz u”.":f,:’Jg:iiLf..“ﬁ ()

A sound wave has a frequency of 2KHz and wavelength 35cm. How long will it take to travel 1,5Km?
e P f L oIk 2oL eoline JES i Fione S (L)

Explain in detail any two safety measures that should be taken in connection with household circuit.

,._s;ff-#ua?wxiz;?wi-{_o.ﬁm .Letidwurl,:u’z;kuiu-'muouc 2! SDﬂuC;!ﬁ’JZ)I:JE’{(L—TFn (er)
Two bodies are oppositely charged with S00uC and 100uC charge. Find the force between the two

charges if the distance between them in air is 0.5m.
P at s
- E I SR 2 fiud _Fkew (i)
Considering oscilloscope, describe the working of the electron gun with control grid.
SN F Vet ¢ CAS IS hm L uits (L)
The activity of a sample of radioactive bismuth decreases to one-eight of its original activity in 15
days. Calculate the half-life of the sample. -
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